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71111 

MICRO ECONOMICS -| 

Time :Three Hours ] 

Paper: 16ECO21C1 

71111-200-(P-4)(Q-9)(24) 

IMaximum Marks :80 

Before answering the questions, candidates should ensure that they 
have been supplied the correct and complete question paper. No 
complaint in this regard, will be entertained after examination. 

Note : Attempt five questions in all, selecting one 
question from cach Unit. Question No. 1 is 

compulsory. All questions carry equal marks. 

P.T.O. 



1. Explain the following briefly (All are compulsory) : 

(a) Circular flow 

(b) Factor of Production 

(c) Cardinal Utility 

(d) Income-Consumption Curve 

(e) Technical Progress 

() Elasticity of Substitution 

(g) Bilateral Monopoly 

(h) Product Differentiation 

UNIT -I 

71111-200-(P-4)(Q-9)(24) 

2. Discuss the nature and scope of economics with 
special emphasis on Microeconomics. 

2 x 8= 16 

(2) 

16 



3 What is Price Elasticity of Denmand ? How is it measured ? 

5. Write short notes on: 

UNIT-I| 

4. Critically explain the Ordnal Utility analysis of Consumer behaviour. 

(a) Consumer Surplus 

(b) Revealed Preference Approach 

UNIT - || 

71111-200-(P-4)(Q-9)(24) 

16 

6. Discuss properties of Cobb-Douglas Production 
Function. 16 

16 

7. What do you understand by law of variable proportions ? Discuss its three stages and highlight their respective features. 

(3) 

16 

P. T.O. 



UNIT-IV 

Fh-IV 

8. Discuss the equilibrium price and output determination 

in case of perfectly competitive market. 

71111-200-(P-4)(Q-9)(24) 

9. What is price discrimination ? Discuss its various 

degrees. How it is practiced in real life? 

16 

(4) 

16 
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MACRO ECONOMICS-I 

Paper: 16ECO21C2 

Time :1hree Hours ] [Maximum Marks : 80 

Before answring the questions, candudates sBould ensure that they haw 

been supplied the correct and complete qustion paper. No conylaint in 

this regard, will le entertained after examination. 

71112-200-(P-4)(Q-9)(24) 

Note: Attempt five questions in all, sclecting one question 

from each Unit. Question No. 9 (Unit - V) is 

compulsory. All questions carry equal marks. 

P. T.O. 



UNIT- I 

1. Critically explain the quantity theory of money. 

Z. Explain Keynesion model of income and output 
determination in a four-sector economy. 

UNIT - I| 

3. Explain equilibrium in good-market by IS-curve. 

71112-200-(P-4)(Q-9)(24) 

UNIT - IlI 

5. Explain price and output determination under va 
price level. 

16 

4. Derive demand curve with the help of IS-LM Model. 
What will be the effect of govt. spending on AD ? 16 

(2) 

16 

16 

16 



6. Compare the classical and Keynesian views on 
relationship between wage-price flexibility and 
automatic full employment. 

UNIT - IV 

7 What is MEC ? How it determine the volumne of 
investment ? 

(i) Define Money. 

8. Explain life-cyclo Hypothesis of consumption. How is 
it different from permanent income Hypothesis ? 16 

9. All parts are comnpulsory : 

UNIT - V 

71112-200-(P-4)(Q-9)(24) 

(ii) Full employment. 

16 

(3) 

16 

2 x8= 16 

P. T.O. 



(iii) Investment Multiplier. 

(iv) What is LM curve ? 

LM �# RI? 

(v) Deficit Financing. 

(vi) What is supply Price ? 

(vii) What is SLR ? 

SLR I? 

(viü)Open Inflation 

71112-200-(P-4)(Q-9)(24) (4) 
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Before answering the questions, candidates should ensure that they he 
been supplied the correct and complete question paper. No complaint in 
this regard, will le entertained after examination. 

[ Maximum Marks : 80 

Note: Attempt five questions in all, selecting one question 
from each Unit. Question No. 1 is compulsory. Al 
questions carry equal marks. 

1 

P.T.0. 



1. Explain the followings in brief: 

(a) Quadratic equation 

(b) Null set 

(c) Unit matrix 

( 00 assumptions of input-output Analys1s. 

(e) Limit of a function. 

() If y=Wi, find y dy 

y= 

dx 

(g) When y=a*, ind 

dy 
dx 

dy 
dx 

(h) Conditions for maximum value. 

2x8 16 

71114-250-(P-7)(Q-9)(24) (2) 



UNIT�I 

,2, 8), B = (2, 4, 6, 8} and C(4,5, 6, 7), then 
verify t (AnB)C=An(BOC). 

yft A = {1, 2, 8}, B= (2, 4, 6, 8} T C{4, 5, 6, 7), T 

(i) In a class of 60 boys, there are 45 boys who play 

cards and 30 boys play carrom. 

60 ght �4T 45 S 

(a) How many boys play both the games ? 

(b) How many play cards only ? 

(c) How many play carrom only ? 

3. (i) Solve the following equation 

71114-250-(P-7)(Q-9)(24) 

8 

-25x-144=0 

(3) 

8 

8 

P. T. O. 



x-25x-144 =0 

(u) The demand and supply relations are given by the 
equation p + q = 20 arnd 2p + g = 8, where p is 

Prhce and q is quantity. Determine the equilibrium 

price and quantity. 

2 

71114-250-(P-7)(&-9\24) 

HTT yft qg tu p+a = 20 T 2p + q = 8, 

UNIT- || 

4. Solve the following equations by Cramer rule : 

2r + y +Z =1, 

X-2y -z=1.5, 

3y -5z =9 

2* +y +z=1, 

X-2y -z=1.5, 
3y - 5z =9 

8 

(4) 

16 



5. Three sector economy has tollowing input-output 

coefficient matrix and final dermand vector: 

6. (i) Find dy 

A =|0.2 

dx 

0.4 

A=0.2 

71114-250-(P-7)(Q-9)\24) 

0.5 

0 

,if y= 

0 

Find the gross output of each sector. 

0 0.5 

|0.4 0 

0.5 

1-x 

0 

(5) 

0 

UNIT - II 

1000 

0 

D=|5000 
4000 

0.5, D=|5000 
1000| 

4000 

16 

8 

P. T.O. 



16 

16 

8 

-4y =0. dx 
+X 

dy2 d'y,dy 
(6) 

y=x*+ f 2 dy 

dx 2t-4y =0. y2 �°y 

5-IV 

8. If y=x�+show that x. 

UNIT-IV 

71114-250O-(P-7)(Q-9)(24) 

1 

7. Find dylàx when y =log |x +**+a 

So 4IT bT g = 50 -5P R P = 5 4 HT 

the price elasticity of demand at P =5. 

dx 
dy 

yft 

(i) A 
demand function is given 

as q = 50 -5P, find 

V1+2' 
|1-2 



9. Find the extreme values of the following function: 16 

y=x*-14x +24x +9 

71114-250-(P-7)(O-9)(24) 

-14y2 

(7) 

+ 24x +9 
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71115-400-(P-7)(Q-9)(24) 

[ Maximum Marks : 80 
Before answering the questions, candidates should ensure that thev hany 
been suplid the cornect and complete question paper. No complaint in 
this regard, will be entertained after examination. 

Note: Attempt five questions in all, selecting one question 
from each Unit. Ouestion No. 1 is compulsory. All 
questions carry equal marks. 

P.T.0. 



1. Explain the following in 
1. 

in brief : 

(a) Sub-divided diagrams 

(b) Histogram 

(c) Type of averages 

(d) Harmonic Mean 

(e) Mean Deviation 

() Types of kurtosis 

(g) Two limitations of index numbers. 

71115-400-(P-7)(Q-9)(24) (2) 

2x 8 16 



a the probability or arawing an ace from a set of 52 cards. 

52 yai 

Value 

2. Explain various types of diagrams. 

3. (i) Give relationship between AM, GM and HM. 

UNIT -| 

AM, GM TT HM# T H qECI 

(iü) Calculate median fromn the following data 

1-10 11-20 21-30 31-40 

Frequency 4 

71115-400-(P-7)(Q-9)(24) 

12 

(3) 

20 9 

16 

6 

10 

41-50 

5 

P.T.O. 



4. (i) What is Lorenz curve? Explain its usefulness. 

Marks 

(iü) Calculate 

UNIT -I| 

Marks above 

mean and 

No. of Student 5 10 20 40 30 20 10 

5. Calculate Karl Pearson's coefficients of skewness: 

0-1010-20/20-3030-4040-50 50-60|60-70|70-80 

71115-400-(P-7)(Q-9)(24) 

No. of Students 1009790 7O4025 15 

(4) 

6 

10 

4 

10 20 3040 |50 6070 80 90 

16 

nd standard deviation : 



UNIT- I|| 

B What is meant by index numbers ? What are their 
the problems faced during 

types ? Explain 

7. (i) Construct quantity index number by: 

(a) Laspeyre's method 

(b) Paasche's method 

(c) Fisher's method 

71115-400-(P-7)(0-9)\24) (5) 

16 

10 

P.T.O. 

? 

constructions of index numbers. 



8. (i) 

Commodity 

In 

Price Quantity Price 

8 

71115-400-(P-7)(Q-9)(24) 

10 

16 

(ii) Write about Splicing. 

1990 

UNIT -Iy 

F-IV 

(6) 

10 

9 

16 

10 

12 

20 

1995 

Quantity 

11 

9 

a single throw with tw 

17 

6 

8 

two disc, disc, find the 
probability of throwing of least 8 (or more than 7). 



(ii) A bag containing 4 red balls, 3 white balls and 5 
black balls. Two balls are drawn one after the 
other with replacement. Find the probability that 
first is red and second is black. 

4 AIT T4, 3 HEg 

9. State and prove Baye's theorem. 

71115-400-(P-7)(Q-9)24) (7) 

8 

16 
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